



1. Item Detail for Question 1 - The correct answer is: D. The right to freedom of assembly

2. Item Detail for Question 2 - The correct answer is: B. behaving peacefully

3. Item Detail for Question 3 - 

COMPLETE: Response gives two valid ways such events can achieve political goals. 

PARTIAL: Response gives one valid way such events can achieve political goals. 

UNACCEPTABLE: Response gives no specific ways such events can achieve political goals. 

4. Item Detail for Question 4 - The correct answer is: D. people's rights

5. Item Detail for Question 5 - The correct answer is: A. The people should be in control of their own government.

6. Item Detail for Question 6 - The correct answer is: D. explain why the colonies were breaking away from Great Britain

7. Item Detail for Question 7

COMPLETE
Response gives the correct answer (the individual) and gives two valid reasons that are based on the text.

OR

The student has forgotten to fill in the correct oval, but the student's reasons/answers in the second part of the question make it clear that they understand the individual is more important. 

ACCEPTABLE
The response gives the correct answer, the individual, and only one valid reason.

OR

The student has forgotten to fill in the correct oval, but the student's one reason/answer in the second part of the question makes it clear that they understand the individual is more important. 

PARTIAL
The response gives the correct answer (the individual) but no reason is given, reasons are vague/inaccurate. 

UNACCEPTABLE
The response does not give correct answer (the individual) or reasons.

OR

The response contradicts the reasons. 

8. Item Detail for Question 8 - The correct answer is: A. executive and legislative branches are separate

9. Item Detail for Question 9 - The correct answer is: B. parliamentary

10. Item Detail for Question 10 - The correct answer is: A. building churches

11. Item Detail for Question 11 - The correct answer is: C. Your senators and congressional representative

12. Item Detail for Question 12 - The correct answer is: C. The stability of the international system depends on absolute respect for national borders and sovereignty.

13. Item Detail for Question 13

COMPLETE
Response gives two plausible pieces of information and explains why each one would be important. 

ACCEPTABLE
Response gives one or two pieces of information and one explanation. 

PARTIAL
Response gives one or two plausible pieces of information without explaining why either one is important

OR

response gives vague or incomplete explanations. 

UNACCEPTABLE
[bookmark: _GoBack]Response does not give any plausible pieces of information or explanations.


14. Item Detail for Question 14 - The correct answer is: C. Domestic and foreign policy are related.

15. Item Detail for Question 15 - The correct answer is: A. lobbying

16. Item Detail for Question 16 - The correct answer is: D. The Second Amendment to the Constitution

17. Item Detail for Question 17 - The correct answer is: B. The Constitution has been amended to prevent people from being elected to more than two terms as President.

18. Item Detail for Question 18 - The correct answer is: B. Print money

19. Item Detail for Question 19 - The correct answer is: C. checks and balances
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